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QUESTION 1

A Cisco Unified Communications Manager cluster contains a publisher and four subscriber nodes. If the publisher
becomes unavailable, which three of these statements are true? (Choose three.) 

A. All on-net calls are dropped. 

B. The Informix database automatically locks. 

C. All IP telephony devices continue to operate. 

D. New Cisco Unified Communications Manager devices can be configureD. 

E. Available Cisco Unified Communications Manager servers work from the local backup database. 

F. The Informix database will save configuration changes on subscribers to be uploaded to the publisher when
available. 

Correct Answer: BCE 

 

QUESTION 2

The Cisco IP Phone of your company operator is on extension 7000. However, users normally dial 0 to get the
operator. 

Which action sends calls that were made to 0 to the operator? 

A. Create a route pattern of 0 and use a called party transform mask of 7XXX. 

B. Create the IP phone overlay feature so the operator\\'s line has 0 and 7000 assigned to it. 

C. Create a translation pattern for 7000 and a called party transform mask of 0. 

D. Create a translation pattern for 0 and a called party transform mask of 7000. 

E. Create a translation pattern for 0 and a calling party transform mask of 7000. 

Correct Answer: D 

 

QUESTION 3

Which two types of media resource can be inserted into a media resource group? (Choose two.) 

A. codec server 

B. Media Termination Point 

C. annunciator 

D. video transfer elements 
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E. audio source server 

Correct Answer: BC 

 

QUESTION 4

What is the process used to restore an entire cluster in the event of a catastrophic failure? 

A. Restore the first node by doing a fresh install, restore the first node database from DRS, and then restore the
subsequent nodes from the DRS backup location. 

B. Restore the first node from tape or SFTP and then restore each subsequent node. 

C. Restore the first node and then perform a database push to the subsequent nodes in the cluster. 

D. Restore all the nodes in the cluster by means of a fresh install and then restore the features and subcomponents to
each server by means of DRS. 

Correct Answer: A 

Disaster Recovery System Administration Guide Before you restore a cluster, make sure that all nodes in the cluster are
up and communicating with the first node. You must carry out a fresh install for the nodes that are down or not
communicating with first node at the time of the restore. Restoring the first node restores the whole cluster database.
This may take up to several hours based on number of nodes and size of database being restored. If a subsequent
node is down or not connected to the cluster during the cluster restore, the database component restore will skip that
node and proceed with the next one. You must carry out a fresh install of Cisco Unified Communications Manager on
these subsequent nodes. You can restore the whole cluster as a single operation. The first node and the subsequent
nodes do not necessarily need to be restored in two separate operations. 

 

QUESTION 5

By default, what is the maximum number of concurrent requests that a TFTP server can handle when it is configured to
run on a single server with the other Cisco Call Unified Communication Manager services? 

A. 250 

B. 500 

C. 1000 

D. 2000 

Correct Answer: B 
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